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  91الات آزمون سراسري ؤس

  زبان عمومي

Section 1: structure 
Directions: Choose the number of the answer choice that best completes the blank. 

 1- State refers, ………, to any self-governing set of people organized so that they deal with others as a unity. 

1) in its widest sense 
3) to a wide sense of the word 

2) in its sense being widest 
4) to the word of the widest sense 

 2- ……... should be viewed as either positive or negative, as in the case of the normative reference group. 

1) Such subjects as referred 
3) Referring any of such object 

2) Reference to any such object 
4) Such a subject to be referred 

 3- Sapir contributed significantly to the development of linguistic theory, the concept of the phoneme 

……… . 
1) who defined as the first 
3) which was the first of defining 

2) the first of which to define 
4) being the first to define 

 4- Only where market failure occurs ……… to worry, and even such failure may tend to excessive 

conservation. 
1) is there perhaps cause 
3) it perhaps causes us 

2) does it perhaps cause 
4) perhaps there is cause us 

 5- ………. to assess Bateson's unique career and his various contributions to the social sciences. 

1) Right now it is not being enough early 
3) It is, as yet, too early 

2) Up to now it is very early 
4) It is already very early 

 6- All meteors belong to the solar system ………… . 

1) part of its is earth 
3) where the earth 

2) which is earth part of it 
4) of which the earth is a part 

 7- Since the days of Linnaeus a great advance has been made ……….. natural systems of classification. 

1) for the construction known 
3) of constructing what to be known as 

2) in constructing what are known as 
4) to the construction of what is known 

 8- When the blood's tiniest particles ………. air or any other foreign bodies, they disintegrate. 

1) come to contact with 
3) come in contact with 

2) have come to a contact by 
4) have come into a contact by 

 9- ………. neck region the spinal cord thickens. 

1) The point above just the 
3) At a point just above the 

2) It is at the point just above 
4) It is just a point above where 

 10- knowing the distance of the food source ………. unless the direction is indicated. 

1) of hive does not help 
3) where not helping hive 

2) where the hive help 
4) from the hive is no help 
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Section 2: Vocabulary 

 11- The building is ……….. to be built in the first century B.C. 

1) presumed 2) granted 3) embraced 4) scheduled 

 12- There is a long way to ………… the secrets of genetics. 

1) allege 2) unravel 3) stipulate 4) dissemble 

 13- Within minutes, the jury had ………. that he was guilty. 

1) concurred 2) spurned 3) discharged 4) disfigured 

 14- The country is ………… the worst economic condition since 2001. 

1) agitating 2) mustering 3) aspiring 4) enduring 

 15- Several months ………. before his case was brought to trial. 

1) elapsed 2) surged 3) surpassed 4) circulated 

 16- These pictures ………… the days of the French Revolution. 

1) underpin 2) impart 3) discern 4) recapture 

 17- The lawyer ……… the claim and tried to prove it was false. 

1) appealed for 2) contested 3) kept back 4) transgressed 

 18- I finally managed to ……….. the book I wanted in a shop near the university. 

1) sort out 2) date back 3) catch up with 4) track down 

 19- Although she said her comments were …………., the newspaper published them anyway. 

1) on tap 2) off form 3) off the record 4) on the run 

 20- I expect to see you here at eight o'clock …………. . 

1) above par 2) on the dot 3) at the ready 4) in the balance 

 21- Jane has been ……….. ever since she lost her job. 

1) out of bounds 2) to a fault 3) at loose ends 4) up to scratch 

 22- The prisoner stood before the judge with his wife ………….. . 

1) hanging in the balance 
3) taking her pick 

2) standing the pace 
4) keeping up with him 

 23- The man who had lost his family appeared very …………. despite the stress he was under. 

1) equitable 2) composed 3) disposed 4) engrossed 

 24- The ……… of the car has been changed making the new model less boxlike. 

1) valor 2) outfit 3) contour 4) prospect 

 25- Smokers often feel as though they are being treated as social ……….. . 

1) lodgers 2) outcasts 3) swindlers 4) instigators 

 26- Despite the increased profits, the company's shares are still …………. well below last year's peak. 

1) pursuing 2) sustaining 3) languishing 4) meandering 

 27- The two cultures were so utterly ………. that she found it hard to adapt from one to the other. 

1) didactic 2) discreet 3) dissolute 4) disparate 

 28- The long ……….. volcano has recently shown signs of life. 

1) dormant 2) sluggish 3) decrepit 4) archaic 
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 29- The government is now claiming that inflation is on a downward ……….. . 

1) premise 2) disposition 3) trajectory 4) cornerstone 

 30- During his lifetime, this man's ………… as a social theorist was tremendous. 

1) foundation 2) permanence 3) venue 4) stature 

Section 3: Cloze Text 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark 
the correct choice on your answer sheet. 

A specific state is defined necessarily with respect both to a territory and a population which occupies it, and which 
…(31)… the society of which the state is the emanation. In a state, political power is …(32)… by a dominant, 
specialized, and numerically minority group, which …(33)… of the means of military force that is used for wars 
outside and for …(34)…within. Born-in violence, the power of the state can perpetuate itself only by inducting a 
social …(35)… ; at the very moment that it …(36)… political power for its own profit, the dominant group is 
…(37)… to elaborate, for the society at large, an ideology which legitimates it, which serves to establish a 
contractual …(38)… associating the state and the society. 
The appearance of the state marks a radical …(39)… in the history of the society, from the point of view of spatial 
organization, the internal …(40)… of the society, and the control of economic and social relations. The most 
evident consequence of these changes is a shift in the scale of the frame of reference of social life. 

 31- 1) constituting 2) constitutes 3) it constitutes 4) each constituting 

 32- 1) governed 2) presumed 3) monopolized 4) surrounded 

 33- 1) deals 2) transfers 3) allocates 4) disposes 

 34- 1) coercion 2) disposal 3) disparity 4) constitution 

 35- 1) display 2) exposure 3) consensus 4) penetration 

 36- 1) announces 2) captures 3) persists 4) impels 

 37- 1) obliged 2) linked 3) assigned 4) extended 

 38- 1) bond 2) sequel 3) verdict 4) counteraction 

 39- 1) breakdown 2) parallel 3) barrier 4) break 

 40- 1) abstraction 2) differentiation 3) standing 4) disposition 

Section 4: Reading Comprehension 

PASSAGE 1: 
Natural selection is the only known theory that can account for the existence in nature of adaptation. However, that does 
not mean that natural selection is the driving force of all evolution, because not all evolutionary change is necessarily 
adaptive. At the molecular level, in particular, there is growing support for the idea that most evolutionary change is 
actually neutral. This "neutral theory of evolution" has been most effectively championed by the distinguished 
Japanese geneticist Motoo Kimura. The neutral theory does not state that genes are doing nothing useful. Rather, it 
suggests that different forms of the same gene are indistinguishable in their effects. Therefore, a mutation from one 
form of the gene to another is neutral in that the change has no effect upon the phenotype. The most obvious example 
is synonymous mutation. The final phenotypic expression of two forms of the gene can therefore be identical, and 
mutation from one form to the other is again neutral. Kimura and his colleagues point to evidence that the majority of 
gene substitutions in nature are neutral. It is, in their view, the main cause of genetic variation in wild populations. 
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The neutral theory is sometimes portrayed as anti-Darwinian, but this is very misleading. Neutral mutations are 

equivalent to changes in typeface from, for example, Times Roman to Baskerville Light: the meaning of the 

sentences written is unchanged. Darwinian selection judges genes by their phenotypic expression – by the meaning 

of the sentences. If a mutation has literally no effect on the phenotype- it is purely a change of typeface- natural 

selection will obviously be indifferent to it. The neutral theory says nothing, one way or the other, about the 

importance of Darwinian natural selection at the level of phenotypes. 

The neutral theory was hotly disputed when first proposed in the late 1960s, perhaps partly because it was wrongly 

perceived- and even wrongly oversold- as anti- Darwinian. Since that time it has gained ground and is now widely 

supported. One interesting consequence of it is the idea of a "molecular generic clock". If most gene substitutions 

are neutral, the rate of substitution is expected to be roughly constant at any particular genetic locus. On this 

assumption, the time at which the time at which the common ancestor or any pair or species lived can be calculated 

from the number of amino acid differences between the two species. At first, such times may be measured in 

arbitrary units, but they can be calibrated in millions of years for any given gene, using lineages where the fossil 

record happens to be rich. It is from evidence of this kind that the branch points mentioned above for human and 

ape lineages have been dated. 

Natural selection chooses the "fittest" but the fittest what? For Darwin the answer was clear: the fittest individual 

organisms. Fitness, for Darwin, meant whatever qualities assisted an organism to survive and reproduce. 

Components of fitness were qualities such as fal-running legs, keen eyes, and abundant, high quality milk. "fitness" 

later became a technical term used by mathematical geneticists to mean "whatever is favored is favored by natural 

selection". As a trivial consequence of this, it became possible to argue that "survival of the fittest" is a tautology. 

Notwithstanding Darwin's emphasis on individual survival and reproduction, other evolutionists have sometimes 

thought of natural selection as choosing among larger units: groups of individuals, or species. Restraint in 

aggression, for instance, has been explained as resulting from natural selection between species: those species 

whose individual members tore each other limb from limb became extinct. At least in this simple, naïve form, 

such "group selectionism" is now discredited. The 1960s and 1970s saw a reversion among theorists, away from 

group selectionism, back to the Neo-Darwinian rigor of the 1930s. Evolutionary change comes about through 

gene substitutions in gene pools and these ordinarily result from differences in genetic effects on individual 

survival and reproduction. Subtle and indirect ways in which genes might influence their survival were also 

recognized. For example, worker ants are sterile, but they can still affect the representation of copies of their 

genes in the gene pool, by favoring the reproduction of their close relatives, such as their reproductive sisters. In 

a notable theoretical advance, W.D. Hamilton proposed "inclusive fitness" as a generalization of "Darwinian 

fitness" which took account of such indirect kinship effects. The phrase "kin selection" is helpfully used to 

distinguish this important theory from the discredited "group selection" which it superficially, and misleadingly, 

sometimes seems to resemble. 

 41- The neutral theory ………….. . 

1) supports that all evolutionary change is adaptive 
2) indicates that genes aren't contributing anything to evolution 
3) signifies that the contribution of the genes to evolution is neutral 
4) expresses that the evolution would not occur without the help of genes 

 42- Fitness can be described as ……… . 

1) the qualities all living organisms are highly required to possess 
2) attributes an organism needs to survive and to reproduce 
3) a technical term originated by mathematicians 
4) the physical qualities natural selection favors 
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 43- In order NOT to become extinct, ……… . 

1) species became more and more aggressive 
2) species have focused on reproducing more 
3) members of some species avoided aggression 
4) strong members of some species killed the weaker ones 

 44- The purpose of the text is to ……… . 

1) inform the reader about natural selection and the neutral theory 
2) prove that the neutral theory is more reliable than neutral selection 
3) prove that natural selection is more reliable than  the neutral theory 
4) inform the reader about some very important theoreticians such as Darwin and Kimura 

 45- What does "mutation" in paragraph 2 mean? 

1) situation 2) stance 3) progress 4) change 

 46- What does "it" in line 20 refer to? 

1) ground 2) consequence 3) anti- Darwinian 4) the neutral theory 

 47- What does "it" in the last line refer to? 

1) the phrase 2) group selection 3) inclusive fitness 4) important theory 

PASSAGE 2: 
Waste, rubbish or materials can be explained as the things that are not needed and are economically unusable 
without further processing. It may be in liquid, gas, or solid form and originate from a wide range of human 
operations, such as industry, commerce, transport, agriculture, medicine, and domestic activities. Waste may be 
classified in many different ways, such as according to its origin (for example, domestic, industrial, commercial, 
clinical, construction, nuclear, agricultural) or its properties (for example, inert, toxic, inflammable). Without 
suitable treatment such waste becomes a source of pollution of the environment at large, and leading to air 
pollution (such as acid rain or traffic pollution), water pollution, and oil pollution. The amount of waste produced 
by human activities is increasing in most parts of the world, accompanied by problems of disposal. In developing 
countries waste-disposal facilities are minimal, but extensive quantities are diverted for recycling. Waste disposal 
operations in the developed world are becoming increasingly sophisticated with specialist companies of mineral (27 
per cent), agricultural (40 per cent), industrial (20 per cent), and municipal (4 per cent) wastes, dirt mud (7 per 
cent), and searched spoil (2 per cent). Most UK solid waste disposal is done through landfill in 4,000 licensed sites. 
Suitable locations for landfill are becoming increasingly difficult to find and disposal of waste by this method has 
potential environmental problems, such as leakage of toxins into groundwater and generation of explosive methane 
gas (which may also contribute also contribute to the greenhouse effect). Explosive wastes can be burned, but the 
process is expensive, may result in air pollution, and has a low level of public acceptability. Highly specialized 
incinerators are used to burn hazardous wastes and eliminate their toxic properties; they produce a solid remainder 
that is landfilled, but the volume is much reduced and it is unmoving. Sewage disposal in the United Kingdom used 
to see much dirt mud being dumped at sea, but in 1998 this was banned, and anacrobic digestion (in which waste 
decomposes in an enclose chamber) and burning are now the common alternatives. Certain wastes represent special 
hazards and require appropriate treatment, for example, clinical waste, which may be polluted with pathogens, and 
nuclear waste for which highly engineered burial facilities are required. 
Many countries are now adopting policies to encourage waste minimization, which consists of a hierarchy of 
management options ranging from termination of waste production (the most favored), reuse, recycling, 
combustion for fuel and disposal by landfill, and so on, to burning (the least favored). In order to encourage waste 
minimization the UK government introduced a tax in 1996 of £7 per ton for chemically inert waste). Together with 
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other strategies, such as encouragement of recycling centers and domestic composting of organic matter, it is likely 
that there will be an important move away from traditional waste-disposal practices. Indeed, the UK government 
has set a target for 2015 by when 33 per cent of household waste will be recycled. Finally, these measures will 
hopefully put an end to this alarming condition. 

 48- Which of the following is the most appropriate topic for the text? 

1) The reasons for pollution that is caused by waste and its chemicals. 
2) The kinds of wastes people are responsible for and complain about. 
3) Wastes and the precautions taken by governments against its harmful effects. 
4) The increase in the amount of waste produced by human activities and dangers of it. 

 49- What makes wastes dangerous for human beings and environment? 

1) Inappropriate treatment makes waste become a source of air, water and oil pollution. 
2) Waste-disposal facilities are minimal, but large quantities are diverted for recycling. 
3) Explosive wastes can be burned, but the process is expensive and inapplicable. 
4) Suitable locations for landfill are becoming increasingly difficult to find and reuse. 

 50- According to the text, which of the following waste doesn't have to get a special treatment while 

terminating? 
1) nuclear researches' 2) fertilized lands' 3) hospitals' 4) factories' 

 51- Why do most countries try to stay away from burning method in termination of wastes? 

1) It is unmoving. 
3) It is a very long process. 

2) It causes air pollution. 
4) It requires special techniques. 

 52- Which of the following is NOT true according to the text? 

1) Sewage disposal was banned in almost all countries, so burning is now the most common alternative for it. 
2) With special measures, an important move away from traditional waste-disposal practices may be achieved. 
3) The waste produced by human activities is increasing in most parts of the world, accompanied by 
problems of disposal. 
4) The UK government introduced a tax in 1996 of £7 per tone on landfill for many wastes to encourage waste 
minimization. 

 53- Who or what does "it" in line 24 refer to? 

1) landfilled 2) the volume 3) solid remainder 4) sewage disposal 

PASSAGE 3: 

Historical studies have indicated that family structure has been less changed by urbanization and industrialization 

than was once supposed. As far as is known, the nuclear family was the most customary pre-industrial unit and is 

still the basic unit of social organization in most modern industrial societies. The modern family differs from earlier 

traditional forms, however, in its functions, composition, and life cycle, and in the roles of mothers and fathers. 

The only function of the family that continues to survive all change is the provision of affection and emotional 

support by and to all its members, particularly infants and young children. Specialized institutions now perform 

many of the other function that were once performed by the rural family: economic production, education, religious 

schooling, and recreation. Employment is usually separate from the family group; family members often work in 

different occupations and in locations away from the home. Education is provided by the state or by private groups, 

Religious training and recreational activities are available outside the home, although both still have a place in 

family life. The family is still responsible for the socialization of children, but even in this capacity, the influence of 

peers and of the mass media has assumed a larger role. 
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Family composition in industrial societies has changed dramatically since the start of the Industrial Revolution. The 
number of years separating the births of the youngest and oldest children has declined. This has occurred in 
conjunction with increased long longevity. In earlier times, marriage normally dissolved through the death of a 
spouse before the youngest child left home. Today, husbands and wives potentially have about as many years 
together after the children leave home as before. The proportion of traditional nuclear family households in the 
United Kingdom, comprising a couple with one or more dependent children, fell from a third in 1971 to just under 
a quarter in spring 2002. 
During the 20th century, extended family households declined in popularity in the west. This change is associated 
particularly with increased residential mobility and with diminished financial responsibility of children for ageing 
parents, as pensions from jobs and government-sponsored benefits for retired people became more common. 
By the 1970s the prototypical nuclear family had yielded somewhat to modified structure including the single 
parent family, the stepfamily, and the family without children. One-parent families in the past were usually the 
result of the death of a partner or a spouse. Now, however, most one-parent families are the result of divorce, 
although some are created when unmarried mothers hear children. Between 1971 and 1991 the proportion of 
lone-parent households with dependent children doubled, from 3 to 6 per cent. The proportion remained at 
around this level in 2002. At the end of the 20th century, a total of around 3 million children- nearly a quarter of 
children- lived in a single-parent family. Almost one in five dependent children live in lone-mother families, 
while lone-father families accounted for around 2 per cent of all families with dependent children in 2000. 
Families without children may be increasingly the result of deliberate choice on the part of the partner or spouses 
and facilitated by the wider availability of birth control. For many years the proportion of couples who were 
childless declined steadily as cures for diseases that cause infertility were discovered. In the 1970s, however, the 
changes in the status of woman reversed this trend. Couples particularly in the West now often elect to have no 
children or to postpone having them until their careers are well established. 

 54- Which of the following best summarizes the topic of the text? 

1) The variations on the family unit in developed countries like UK. 
2) The change in the family structure and function over the centuries. 
3) The ideal nuclear family and its functions, composition and life cycle. 
4) The harmful effects of the innovations in family structure and function. 

 55- As it can be inferred from the text, why is the modern family different from the traditional form? 

1) Modern family structure is physically smaller but, in terms of educational opportunities, it is far better. 
2) Modern family members often prefer working in different jobs and in places far from their families' houses. 
3) Traditional family used to give a better support and affection to all its members, especially infants. 
4) Traditional family had to supply their children with education, occupation and religious training. 

 56- Nowadays couples live together for longer years than before after their youngest child leaves home 

because ……… . 
1) the age span between their children's ages isn't that much 
2) the marriages of today are stronger than those of before 
3) they share a healthier life cycle with improvement in medicine 
4) extended family households have declined throughout the years 

 57- What is the most significant factor that prevents a couple from having a child in recent decades? 

1) Diminishing traditional values of society. 
2) The unsolvable diseases causing infertility. 
3) The change in the status of women in business. 
4) Worsening economical problems during years. 
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 58- Which of the following is NOT true according to the text? 

1) The socialization of children can be achieved by the mass media and effect of peers. 
2) Recently, young couples have started living together without marrying, as it is more economically practical. 
3) Pensions and government-sponsored benefits enable the children to leave the responsibility for their parents. 
4) Since 1970, the numbers of one-parent families has increased incredibly due to the constantly rising divorce rate. 

 59- What does "longevity" in paragraph 3 mean? 

1) long life 2) old people 3) good health 4) adulthood 

 60- What or who does "both" in paragraph 2 refer to? 

1) different occupations 
3) training and activities 

2) the state or private groups 
4) peers and the mass media 

زبان تخصصي   
  

PART A: History Of English Literature 

 61- Geoffrey Chaucer's poem Troilus and Criseyde (finished 1380s)  
1)takes its main characters from medieval Scots poetry 
2)is usually considered to be a courtly romance 
3)is the first English poem composed in heroic couplets 
4)was co-authored with the medieval Scots poet Henryson 

 62-The English Renaissance scholar Roger Ascham (1515 -1568) ……… . 

1) wrote his Toxophilus in eloquent Latin, a dialogue in praise of archery with the traditional longbow and in 
deference to ancient Roman stoicism 

2) was a harsh opponent of the famous Renaissance technique of ‘double translation’ as a method for learning 

Latin as it would virtually ‘de-sanctify the tongue’ 
3) eager to influence the pious inclinations of his countrymen never wrote in any language but Latin though 
was considered a master stylist of English in his personal correspondence 
4) believed in the study of Latin and Greek classics for erudition and aesthetic pleasure as well 
as guidance in moral values and in political activity  

 63- The Protestant Book of Common Prayer, developed in the first half of the sixteenth century, and 

described as having a lasting and profound influence on the English language had as its principal architect 
the Archbishop of Canterbury ……… . 

1) Myles Coverdale 2) John Wycliff 3) Thomas Cranmer 4) William Tyndale 

 64- Henry Howard, Earl of Surrey (1517-1547) was ……… . 

1) deve1oped (with Wyatt) the influential Tottlel's miscellany 
2) among the first detractors of Petrarch in English 
3) the first English poet to publish in blank verse 
4) translated a part of Homer's The Odyssey into modern English 

 65- The Renaissance figure ………. wrote his self-styled masterpiece Poly-Olbion, a thirty-thousand-line 

historical-geographical poem celebrating all the counties of England and Wales, and had a significant 
contribution as well to the ……… with his Idea’s Mirror. 

1) Michael Drayton/ period's vogue for sonnets 
2) Samuel Daniel / development of the verse epistle 
3) Walter Raleigh / age's penchant for antiquarian scholarship 
4) Philip Sidney / formation of long epic romance in prose 
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 66- The late sixteenth century 'University Wit' Thomas Nashe (1567-1601) ……… . 

1) disparaged the 'vulgar and inartificial [inartistic] custom of rhyming' in his Observations in the Art of 
English Poesy 
2) wrote the picaresque narrative The Unfortunate Traveler of the Life of Jack Wilton on the adventures of the 
young hero all over Europe 
3) produced an important version of Ovid's Metamorphoses, the first complete English version of the poem, in 
rhyming couplets of  fourteeners  
4) composed one of the best Elizabethan sonnet sequences, Delia, and a verse dialogue on the purpose of 
writing poetry, Musophilus 

 67- Francis Bacon’s Novum Organum (1620) would best ……… .  

1) urge induction as the right method of investigating nature 
2) see human history as a process of inevitable degeneration and decay 
3) be regarded as a pioneer work in the genre of scientific utopia 
4) attempt a survey of the entire field of learning and its obstacles 

 68- Which of the following is NOT TRUE about Samuel Butler’s (1612-1680) Hudibras? 

1) It makes the history of England from 1942 to 1660 appear mere sound and fury. 
2) It takes a serious subject and debases it by using a low style or distorts it by grotesque exaggeration. 
3) It expresses his intense contempt for the Puritans and their common wealth. 
4) It mocks the Restoration government of Charles II and its moral laxity. 

 69-Samuel Johnson’s Lives of the Poets (1779 and 1781) 

1) does not in anything but name deal with the biography of the poets discussed 
2) included poets rigorously selected by the poet to form a canon of literature 
3) omits such standard poets as Chaucer, Spenser, Sidney and Marvell 
4) most outstandingly fails to include the late Renaissance poet John Milton  

 70- Edmund Burke’s A Philosophical Enquiry into the Origin of Our Ideas of the Sublime and the 

Beautiful(1757) mainly claims that ……… . 
1) instinctive feeling about certain objects does not depend on reason 
2) no instinctive feeling is 'valid' without the intervention of reason 
3) sublime objects are never capable of imparting pain 
4) the pleasure derived from beautiful objects is ever mingled with pain 

 71- The Romantic playwright Joanna Baillie (1762-1851) would best ……… in the preface to her 1798 

Series of Plays. 
1) disagree with her contemporary William Wordsworth on naturalness of language and subject matter as fit 
for a work of true art 
2) inspire Keats's notion of self-effacing empathic poetical character by her focus on both the writer’s and the 
reader’s sympathetic curiosity 
3) claim that no gap existed between her theory as a dramatist and her practice and deny the impossibility of 
wedding them on stage 
4) defend her own practice of writing songs, in standard English, for inclusion in her plays which would 
otherwise take an archaic character for their frequent use of medieval settings 

 72- The Scottish poet Robert Burns (1759-1796) tried his hand and produced masterpieces in all the 

following EXCEPT ……… . 
1) satires 2) verse epistles 3) translations 4) mock-heroic narratives 
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 73-The legendary Byronic hero’, a creation of the Romantic age, first appeared in the poet’s ……… . 

1) Childe Harold's Pilgrimage 2) Don Juan 
3) English Bards and Scotch Reviewers  4) Manfred  

 74- Thomas Carlyle’s Past and Present(1843) ……… . 

1) utterly rejects the Victorian medievalist idea of an organic, stratified, and securer social past 
2) believes that modem industrialization has been completely unable to alter the nature of 
3) implies that the world of the machine can never be redeemed by human enterprise and confidence 
4) suggests that there is room for a visionary optimism of the 'type indulged in by such prophetic writers as Blake 

 75- Matthew Arnold (1822-1888) playfully divides English society into three constituent classes: a 

Barbarian aristocracy, a Philistine bourgeoisie and an unlettered Populace in his ………. . 
1) Literature and Dogma 2) Essays in Criticism, second, Series (1888) 
3) Essays in Criticism, First series (1865) 4) Culture and Anarchy 

 76-V. S. Gilbert’s (1836-1911) verse would best ……… . 

1) represent itself inspiration for literary parody, philosophical speculation; and linguistic and mathematical puzzles 
2) be regarded as the last attempt in the Victorian age to assimilate modern English poetry to its roots in the 
golden age of the Renaissance 
3) lend itself to burlesque mode, to poke fun at a host of social and political issues and figures  
4) serve as model for fin-de-siecle poets and their indulgence in symbolism and the extraordinary  

 77- The 1914 manifesto of the journal Blast, a key moment in the development of modernism in  

England, is most visibly influenced by ………. . 
1) T. E. Hulme’s key lecture Romanticism and Classicism just about the same time 
2) the Spanish expatriate artist Picasso's cubist paintings of the early 1900s 
3) imagism of Ezra Pound and the early poetry of T. S. Eliot and Amy Lowell 
4) Italian futurism, particularly the doctrines of the poet Italian F.T.Marinetti 

 78- George Orwell’s Homage to Catalonia (1938) ……… . 

1) shows the disastrous effects of patriotism on a nation’s well-being 
2) recounts in exact detail the causes of Civil War in Spain 
3) strongly criticized the Communist part, in the Spanish Civil War 
4) was, in fact, pro-Soviet propaganda (much to his future regret) 

 79- Brian Friel’s Translations (1980), dubbed as one of the richest late-twentieth century meditations on 

the role of English language and British colonialism ……… . 
1) laments the usurpation of the indigenous Irish tongue by 'the invading cavalry of the English language' 
2) re-imagines the transitional moment when the language of the colonizer is supplanting the language of the colonized 
3) announces a rapprochement between Irish culture and the English language, the moment when the language 
of the colonizer is appropriated for as a means for independence 
4) expresses the age old, but (to him) ill-founded grievances of the Irish against English, regarded as a medium 
of domination in Ireland 

 80- Which of the following about the short story writer Alice Munro (b. 1931) is TRUE?  

1) She often visualizes life as it can be seen from a suburban man's perspective and puts a satirical edge to it 
may stand for 
2) She often writes in the first person, from the perspective of women whose voices suggest the author’s history. 
3) She is resolutely averse to the mode of fiction which tries, however marginally, to approximate the writer’s 
life and experiences. 
4) She is unique in expressing her opinions and emotions in the rather rare and technically, complicated 
second-person point of view. 


